Action

=,
o

PF5 Current [kA]
AN
(6)]

-20

-25
-30

6000

4000

2000

[N
o

PF5 [Post Disruption]

)
=

llllllllllllllllllll TTT lllllllllllllllllll

TTT

1)[AT,DTL: {-3.01480, -3:01845} — -~~~ :
(NC): [-3.0147126, 7.9984734]
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C Conditioned Data (DCPS), Limits: [-24.000000, 1.5000000]

-4 -2 0 2 4 6 8
time

: Full Action (DCPS), Limit = 6390.0000, Max.=7013.1888, End Val. 6990.7427 |

—Full Action (idl), Limit = 6390.00, Max.=7010.22, End Val. 69
- Shot #: 2680.00, Param Tree: 72

| Fault Time: 7.0076719

|_Faults (L1) [AT,DT]: [-3.01480, -3.01845]

time

E_IDL,ICircuIar, i-24.5244, l0.01636821]

DCPS, Circular, [-24.524444, 0.016368193]
IDL, Shaped [Displaced], [-24.5232, 0.0156206]

DCPS, Shaped [Displaced], [-24.523164, 0.015620642]
Shot #: 2680.00, Param Tree: 72
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